
𝑦 = 2௫
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y = logଶ 𝑥

Remember: Inverse: Switch x and y 
Remember: A diagonal reflection over 
the line 𝑦 = 𝑥

           𝑦 = 2௫

           𝑥 = 2௬

    𝑙𝑜𝑔𝑥 = 𝑙𝑜𝑔2௬

    𝑙𝑜𝑔𝑥 = 𝑦𝑙𝑜𝑔2

    
𝑙𝑜𝑔𝑥

𝑙𝑜𝑔2
⎯⎯⎯⎯ = 𝑦

  logଶ 𝑥 = 𝑦
           𝑦 = logଶ 𝑥
𝑓ିଵ(𝑥) = logଶ 𝑥

          y = logଶ 𝑥
          𝑥 = logଶ 𝑦
        2௫ = 𝑦
           𝑦 = 2௫

𝑓ିଵ(𝑥) = 2௫

           𝑦 = 2௫

           𝑥 = 2௬

           𝑦 = logଶ 𝑥
𝑓ିଵ(𝑥) = logଶ 𝑥

𝑥 𝑦

0 𝑢𝑛𝑑

1

2
⎯⎯

−1

1 0

2 1

2 4

𝑥 𝑦

−1 1

2
⎯⎯

0 1

1 2

2 4

𝑆𝑤𝑖𝑡𝑐ℎ 𝑥 𝑎𝑛𝑑 𝑦
Log Both Sides
Bring Exponents Down In Front
Divide

Change of base
Mirror
Inverse Function notation

𝑆𝑤𝑖𝑡𝑐ℎ 𝑥 𝑎𝑛𝑑 𝑦

Exponential to 𝑙𝑜𝑔 Form

𝐵𝑎𝑐𝑘 𝑡ℎ𝑒 𝑂𝑡ℎ𝑒𝑟 𝑊𝑎𝑦!

                            𝑦 = 2௫ାଵ − 3
                            𝑥 = 2௬ାଵ − 3
                    𝑥 + 3 = 2௬ାଵ

          log(𝑥 + 3) = (𝑦 + 1)𝑙𝑜𝑔2

          
log(𝑥 + 3)

𝑙𝑜𝑔2
⎯⎯⎯⎯⎯⎯⎯⎯⎯= 𝑦 + 1

        logଶ(𝑥 + 3) = 𝑦 + 1
logଶ(𝑥 + 3) − 1 = 𝑦
                            𝑦 = logଶ(𝑥 + 3) − 1
                 𝑓ିଵ(𝑥) = logଶ(𝑥 + 3)

               𝑦 = logଶ(𝑥 + 3) − 1
               𝑥 = logଶ(𝑦 + 3) − 1
       𝑥 + 1 = logଶ(𝑦 + 3)
        2௫ାଵ = 𝑦 + 3
2௫ାଵ − 3 = 𝑦
              𝑦 = 2௫ାଵ − 3
   𝑓ିଵ(𝑥) = 2௫ାଵ − 3

𝐼𝑛𝑣𝑒𝑟𝑠𝑒 𝑃𝑟𝑜𝑜𝑓
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